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Voorwoord

Beste deelnemer,

Hier zijn ze dan, de opgaven van PION 2016! Vanuit verschillende universiteiten en on-
derzoeksgroepen hebben we weer een pittige uitdaging voor jullie. We wensen jullie succes
met de volgende 8 vragen.

Hieronder een aantal regels om tijdens het maken van de opgaven in de gaten te houden:
e Maak iedere opgave op een apart blad!

e Lees alle vragen goed door, soms staat er extra informatie verder in de
opgave.

e Schrijf op elk blad dat je inlevert je teamnaam en de naam van de opgave.
e Je hebt drie uur de tijd om de opgaven te maken.
e Fr zijn in totaal 90 punten verdeeld over alle opgaven.

e Het is niet toegestaan gebruik te maken van (studie)boeken, aantekeningen, internet,
etc. anders dan een BINAS en een woordenboek.

e Het is niet toegestaan (over de opgaven) te communiceren (internet, mobiel, etc.) met
anderen dan teamgenoten.

e Het is toegestaan om gebruik te maken van een grafische rekenmachine van het type
dat ook is toegestaan tijdens het examen van de middelbare school (Ti-83, Ti-84 of
een vergelijkbaar type)

e De aanwezigheid van mobiele telefoons wordt gedoogd, mits deze niet gebruikt worden
anders dan voor noodgevallen.

e De winnaar van PION 2016 is het beste team. Door naar PLANCKS gaat het beste
Nederlandse bachelorteam, gevolgd door het beste Nederlandse team, ongelijk aan het
beste Nederlandse bachelorteam.

In gevallen waar dit reglement niet voorziet, beslist de PION2016 commissie. We wensen
je veel succes en vooral veel plezier bij het maken van de opgaven!

Amber van Keeken, Folkert Kuipers, Peter Kristel, Meike Bos, Michel Ram, Dido Denier
van der Gon.

PION2016 Commissie

1 @N 2016



11 maart 2016

Inhoud

1 Train Problem .. ... . 4
2 Non-interacting Spins ... ... ... 6
3 Bound states at edges . ... 7
4 Low energy photons and gauge invariance .............. ... .. .. .. . .. ... .. 9
5  Shockley-Queisser limiet ......... . .. . . . . . 11
6  Relativistische velden . ... .. .. . . . 13
7 The Amsterdam problem ........ ... .. .. . 16
8  Gravitational effects of sea level change ........ ... .. ... .. .. ... .. .. ... .. 17

@N 2016 2



11 maart 2016

Succes met, de opgaven!

@N 2016



1.a)
(1 pt)

1.b)
(2 pt)

1.c)
(1 pt)

11 maart 2016

1. Train Problem

E. Pajer
Universiteit Utrecht
11 punten

Consider a train whose many wagons are not separated from each other, forming one single
room that is about 200m long. All windows are closed, so no air can enter or leave the
train. Since the train is much longer than wide, the problem is essentially one dimensional
and all following equations can be simplified accordingly.

Stationary regime: In this part, we try to predict the distribution of the air inside the
train as the train leaves or approaches the station. At distances much larger than the
mean free path of air particles, air behaves as a fluid!. In an inertial frame, a fluid obeys
the continuity equation (conservation of air)

0,0+ V- (pih) = 0, (L.1)
and the Euler equation (Newton’s second law) -
ataw-w;:—?pw. (1.2)

Here, p(x,t) is the density of air, p(z,t) the pressure, ¥(x,t) the velocity and g the
gravitational acceleration due to the earth. To solve the system we also need the equation
of state, which we will assume to be given by the ideal fluid formula

p=pR,,. T,

with Rg,.. =290 J kg ' K™ the specific gas constant of air, and T the temperature. The
presence of the train (and of some passengers) maintains the air at constant temperature
T = 300 K. We approximate the motion of the train as a constant acceleration a. Ein-
stein’s equivalence principle, which is at the foundation of general relativity, states that

any acceleration is locally equivalent to a (linear) gravitational field.

How do we need to change (1.2) to use it in the non-inertial frame of a train with constant
acceleration?

First, we look for a stationary solution, i.e. we assume enough time has passed so that the
air has reached thermodynamic equilibrium. Compute p,, () as a function of the position
x on the train.

If p is the density averaged over the whole length of the train, and dp,,(z) = p,,(7) — p
the deviation from the average, give an estimate for the maximum of the dimensionless
density contrast

5., (x) = 00eg(®) _ Peg(®)

p p

Here we will neglect all viscous corrections since air is pretty close to an ideal fluid in the regimes under
consideration.
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Hint: It is convenient to define the length L, = R, .. T /a.

spec
Feeling the pressure: As one immerses one’s head underwater, pressure on the ear
drums starts becoming appreciable to the average human at the depth of about 20cm.
What is the minimum acceleration of the train such that a person standing at the rear
end of the train feels a pressure on her ears? You might want to use the fact that the
pressure at the depth of 10 meters in water is twice the pressure at the surface, which is
about 1 bar = 10° Pa. Do you expect to be able to feel the increase of pressure in your
ears in a typical train? Motivate your estimate of the acceleration of the train.

Since ¢ is small, the evolution of air with time is well described by the linearised version
of the fluid equations. For small, adiabatic perturbations, pressure and density are simply
related by

ol ) = plast) —p = (52) bp(at) = c2p(a.t),
S

where the constant cf is the (adiabatic) speed of sound.

Use this relation to eliminate the pressure from (1.2). Expand (1.1) and (1.2) to linear
order in the small perturbations ¢ and v around the static and homogeneous solution of
a train at rest

p(l‘,t) = ﬁ[l + 5($,t>] .

Combine these two equations (or derivatives thereof) to derive one single equation for §.
Describe in a couple of lines the solutions of the resulting equation.

Hint: You might want to take the gradient of the FEuler equation and try to use the
continuity equation to eliminate v.

Wave in an accelerating train: Compute the linearised equations (1.1) and (1.2)
around the static but non-homogeneous solution p,, () of the train with constant accele-
ration

pla,t) = p() [1 +6(a, 1)

Combine the two equations to obtain one single second order partial differential equation

for §.

Hint: It will have the same two terms as in the previous case, plus a new one, which should
vanish for a — 0.

To find the general solutions use separation of variables §(t,x) = f(t)g(z), and solve the
two resulting ordinary differential equations. What is particular about the amplitude of
the wave in this class of solutions?

Useful numerical values:

L=200m, T=300K=27C, Rg.=290Jkg K",

spec
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2. Non-interacting spins
L.C. Filion

Universiteit Utrecht
12 punten

Consider a system consisting of N non-interacting spins in an external field H at tempe-
rature T'. The Hamiltonian for this system can be written

N
H=-HY S,
i=1

where S; = 41 is the state of spin i.

What is the partition function Q(H,T') of a single spin? Calculate the probabilities p,
and p_ for the spin up (S = 1) and spin down (S = —1) states.

What is the average number of up spins (V) and down spins (N_)? What is the average
energy (E)?

Write down the partition function Q(N, N, H,T) where the total number of up spins N,
total number of spins NNV, field H, and temperature T" are fixed. Show that the associated
free energy can be written as:

F(N,N,, H,T)
ke, T

N N —-N
:Agbgjf+(N—A@ﬂg—jﬁiuﬂﬂuN—2Ng.

Let m = p, — p_. Show that the entropy per spin can be written as:

7

S I <1+m10 1+m+1—m10 1—m>
B\ T %% 9 BT )

where kp is Boltzmann’s constant.

Express the average energy (E) of the spin-system in terms of m.

Use your results from (d) and (e) to determine the temperature 7. Show that the tem-
perature is negative for negative m. You may assume that H is positive.

Consider a system consisting of two subsystems, with temperatures 7; < 0 and 75, > 0.
Calculate the change in total entropy for the transfer of an infinitesimal amount of energy
¢ from subsystem 1 to subsystem 2. Is this what you would expect? Explain in a sentence
or two.

@N 2016 6
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3. Bound states at edges

L. Fritz
Universiteit Utrecht
11 punten

We consider a specific tight binding model of electrons hopping on a square lattice, where
on each lattice site there are two orbital states. Assuming periodic boundary conditions
in two directions the Bloch Hamiltonian can be written as

H<kr7ky) - (

—2 —cosk, —cosk, +m —sink, +isink,
—sink, —isink, 2+ cosk, +cosk, —m

What is the dispersion relation of this problem?

For m # 0 this describes a system with an excitation gap, which is at (k,, k,) = (£, +7)
and (k,, k,) = (£m, F).

In the vicinity of one of these points an effective two dimensional Dirac theory emerges
from Bloch Hamiltonian. Show that in real space it is given by

oo m —ivphd, —vphd,
-~ \ —ivpho, +vpho, —m

Show that the low energy spectrum does not depend on the sign of the mass term m.

Now we assume that the system is still translationally invariant in y-direction, but trans-
lational invariance in x-direction is broken by a mass term m(z,y) = m(z), meaning the
Hamiltonian is given by

e m(x) —ivphd, —vpho,
-~ \ —ivphd, +vpho, —m(x)

In that case the ansatz for a solution has to be modified in order to incorporate the broken
translational symmetry. Show that in this situation using a specific ansatz leads to

B m(x) —ivphd, —ivphk,
H= (—thaw +ivphk, —m(x) (3-1)

In (c) you showed that the low energy spectrum does not depend on the sign of m and
consequently it does not seem important. In the following we will find that while this is
true, there is something special happening if we link two spatial regions with opposing
signs of the mass term.
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3.e) We assume that the mass has the form sketched in Figuur 3.1
(3 pt)

05

051

-10F

Figuur 3.1 Massprofile

One can show that for a generic mass-profile of the depicted type there is a zero energy
bound state for k, = 0 sitting at z = 0. Show this explicitly by making the following ansatz
for the wavefunction: v (x, k, = 0) = 56/\('7") with gg being a two-component spinor. You
will find there are two solutions where only one is physical. Argue why this is the case
and give a possible interpretation of this result.

3.f)  You can go beyond this zero energy solution and derive an effective low energy Hamiltonian
(2 pt) of the boundary (vicinity of = 0). This is achieved by projecting the Hamiltonian in
Equation (3.1) at finite momentum k, into the set of normalizable wavefunctions. Show

that the effective boundary Hamiltonian as a function of k, corresponds to

H — _'UFhky

Give an interpretation of this solution.
Hint: Think about the propagation direction of the boundary state.
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4. Low energy photons and gauge invari-

alce
W.J. Waalewijn

Universiteit van Amsterdam
12 punten

In this exercise p, p” and k are four-vectors, the metric is diag(+1,—1,—1,—1). The
complex conjugate of € is €*.

O

Figuur 4.1 High energetic collision

Consider a scalar particle ¢ produced in a highly energetic collision, A — B¢(p), illu-
strated in the figure. The scalar has electrical charge ¢ and we will study the low-energy
photons it can emit. In this limit the amplitude factors are

M(A — Bo(p)y(k)) = M(A — Bo(p'))M(o(p") — ¢(p)y(k)),

M) = 0(p) () = LD, (4.1

where the intermediate ¢(p’) is off its mass shell and ¢, (k) is the photon polarization.

Recall that the mass shell condition is p? = m?.

Expand (4.1) in the limit where the photon has a low energy, keeping only the leading
term.

Repeat the calculation for the emission of n soft photons with momenta k;, by iterating
(4.1).

Figuur 4.2 Example of
emission of multiple soft photons
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Show that the amplitude for emitting n photons can also be written as

M(o(p’) = ¢p(p)y(ky)..y(k,)) = (y(ky)..v(k, )] exp (iq/ dsp-A(Sp“)> 0) (42

0

where A, (sp") is the photon field at the position z# = sp”. In momentum space, the
field A, (k") produces a photon with momentum &/,

(V(B)|A, (K)]0) = (2m)*0% (k — k) €] (k)

These results directly carry over to the case where e.g. a fermion instead of a scalar is
produced. Explain why these low-energy photons do not probe the spin of the fermion.

Electromagnetism is invariant under the gauge transformation A, — A, +9,¢. How does
the exponential in (4.2) transform?

Now consider the other particles in the initial state A and final state B and explain how
gauge invariance of the amplitude for producing low-energy photons is restored.

@N 2016 10
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5. Shockley-Queisser limiet

M. Scholten
Universiteit Utrecht
12 punten

Je hebt je vast wel eens afgevraagd waarom zonnecellen zo’'n laag rendement hebben.
En waarom zonnecellen van halfgeleiders gemaakt moeten worden? En waarom dat altijd
Silicium(en niet bijvoorbeeld Natriumtelluride (TeNa,)) moet zijn? In deze opgave zullen
we (een deel van) deze vragen beantwoorden. Hiervoor zullen we een toy-model gebruiken
van wat er in een zonnecel gebeurt.

Halfgeleiders hebben een bandgap, wat betekent dat er een regio van energieén is, waar
geen elektronische toestanden zijn. Elektronen kunnen deze energie dus niet hebben. Bo-
ven de bandgap zit de zogeheten geleidingsband, eronder de valentieband. Voor halfgelei-
ders is de valentieband volledig gevuld, terwijl de geleidingsband leeg is. Als een zonnecel
een foton absorbeert, wordt een electron geéxciteerd van de valentieband naar de ge-
leidingsband. Hier zal hij zijn energie snel kwijtraken tot hij aan de onderkant van de
geleidingsband eindigt. Doordat dit exciteren lokaal gebeurt ontstaat er een energiever-
schil tussen de regio’s ter grootte van de bandgap. Hierbij hoort een potentiaal V' = % met
E, de bandgap energie en e de elektronlading. Deze potentiaal kan vervolgens gebruikt
worden om een schakeling te voeden.

Het vervelende van het licht van de zon is dat het niet monochromatisch is, maar een
spectrum. Het voldoet bij benadering aan het spectrum van een zwarte-lichaamsstraler.
In ons toy-model zullen wij aannemen dat dit het zonnespectrum exact beschrijft.

We kunnen hierdoor direct al twee problemen identificeren waarom geen rendement van
100% gehaald kan worden. Ten eerste hebben niet alle fotonen een hoog genoege ener-
gie om een elektron de bandgap te laten oversteken. De energie hieruit kan dus niet in
elektrische energie worden omgezet.

Hoeveel energie gaat hierdoor verloren? Werk je antwoord uit tot je niet meer analytisch
verder kunt.

Fotonen met een energie groter dan de bandgap zullen niet alle energie optimaal kunnen
benutten, omdat per elektron een maximale energie van £ in elektrische energie omgezet
kan worden.

Hoeveel energie gaat hierdoor verloren? Werk je antwoord wederom uit tot je niet meer
analytisch verder kunt.

Hoeveel energie wordt in totaal in elektrische energie omgezet. Benader het Planck-spec-
trum met de benadering van Wien, (deze is niet echt geldig in dit regime, maar de con-
clusies blijven kwalitatief hetzelfde).

Wat is de efficiéntie? Schrijf dit als functie van de ratio tussen E, en de typische thermische
energie by = kT

11 @N 2016
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De efficiéntie heeft een maximum, dit is de Shockley-Queisser limiet. Waarom heeft de
efficiéntie een maximum? Schat waar dit maximum zich ongeveer bevindt en geef de
bijbehorende maximale efficiéntie.

Hoe zou je een zonnecel kunnen bouwen die de Shockley-Queisser limiet doorbreekt?

Reken de maximale efficiéntie uit. Voor welke bandgap energie is dit. Neem aan T =
6000K.

Handige formules:
Hint: De intensiteit die een zwart lichaam uitstraalt per steradiaal per eenheid frequentie
s gegeven door:

2hv?
BV = hVV

c?(ersT — 1)'

Hint: De intensiteit die een zwart lichaam uitstraalt per steradiaal per eenheid golfiengte
s gegeven door:

2hc?
BV = hcc

A3 (et — 1)

In de benadering van Wien vervalt in beide vergelijkingen de term —1 in de noemer
Hint: Fen oplossing van de vergelijking
ar® +br*+cx+d=0

18

waarbij

3ac — b? . 203 — 9abe + 27a?d
- 27a3
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6. Relativistische velden
P. Kristel
Universiteit Utrecht
12 punten

In deze opgave werken we met de conventie i = ¢ = 1. Verder lopen Griekse indices van 0
tot en met 3, en de indices ¢ en j lopen van 1 tot en met 3. In deze opgave is elk inproduct
een Minkowski-inproduct, dat wil zeggen

PP = DoPy — P1P1 — P2P2 — P3P3 = D, p".

Een van de belangrijkste objecten in speciale relativiteitstheorie is de groep van Poin-
caré-transformaties. In deze opgave zullen we bekijken hoe scalar- en vectorvelden trans-
formeren onder Poincaré-transformaties.

De Poincaré-transformaties zijn de symmetrieén van vier-dimensionale Minkowski ruimte,
preciezer: de Poincaré-transformaties zijn de transformaties die de Minkowski-afstand
tussen elk willekeurig paar punten onveranderd laten. Elke Poincaré-transformatie is te
schrijven als de samenstelling van een Lorentz-transformatie met een translatie.

Een klassiek vector-veld is een vector-waardige functie op Minkowski ruimte. We willen
graag weten wat een Poincaré-transformatie doet met een vector-veld. Als a een Min-
kowski viervector is dan schrijven we U(a) voor de Poincaré-transformatie die hoort bij
‘verschuiving langs a’.

We gokken dat ‘verschuiving langs a’ ook voor velden ‘verschuiving langs a’ betekent. Dat
wil zeggen als ¢ een veld is, dan geldt

Ula)p(z) = oz + a).
Laat zien dat U(a) te schrijven is als

0 0 0 0
= P~ = ©
U(a) = exp (ao 5 +ay or + a, oz, + ag 8x3> exp (a,0"). (6.1)

Als L een Lorentz-transformatie is, dan schrijven we U(L,a) voor: éérst het toepassen
van L en dan verschuiven met a.

Vereenvoudig U(L,0)"*U(a)U(L,0).
Hint: pas de transformatie toe op een Minkowski-vector x.

Stel dat () een eigenvector van U(a) is, voor alle a, met eigenwaarde exp(ip - a), voor
een zekere viervector p. Laat zien dat U(L,0)p(z) weer een eigenvector van U(a) is, voor
alle a. Vind de bijbehorende eigenwaarde, en breng deze tot de vorm exp(ip’ - a).

De operator 0/0z; wordt in de kwantum-mechanica geassocieerd met de impuls in de
x;-richting, in combinatie met Vergelijking (6.1) verklaart dit de keuze voor de letter p

13 @N 2016
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hierboven. Als een functie ¢ een eigenvector voor deze operator is, betekent dit dat deze
veldconfiguratie een goed bepaalde impuls heeft.

Als gegeven is dat p-p = m?, wat geldt er dan voor p’-p’? Kunnen Poincaré-transformaties
de massa m van het veld veranderen?

We beschouwen nu zogenaamde massieve vector-velden. Dat wil zeggen m # 0.

Om een veldentheorie te beschrijven hebben we een differentiaalvergelijking nodig die
de tijdsevolutie van het veld geeft. Een relatief simpele differentiaalvergelijking is de
Klein-Gordon vergelijking

82 82 62 82 )
(@ 02 Qa2 8m§) o(x) + mip(z) =0,

of met behulp van de Einstein sommatie conventie
L 2 _
0,0"¢p(x) + m7p(x) = 0,
Veronderstel nu dat ¢ een scalarveld is, dat wil zeggen dat
U(L,a)p(z) = ¢(Lz + a),

en laat zien dat als ¢(x) een oplossing van de Klein-Gordon vergelijking is, dat dan
U(L,a)p(x) ook een oplossing van de Klein-Gordon vergelijking is.

Uit de kwantummechanica weten we dat 0,0" overeenkomt met p-p. Als we dus willen dat
p-p = m? dan zal het desbetreffende veld in ieder geval aan de Klein-Gordon vergelijking
moeten voldoen. We zullen nu de Dirac-vergelijking beschouwen, hier is

¥y ()
@D(:L‘) — ¢2<$>

P ()

een complex vector-veld (spinor-veld). Verder zijn o, o, a3 en B een viertal n x n-ma-
trices. De Dirac-vergelijking is nu

L0 .0
(Z&‘{‘Zﬁia—zi—ﬁm) ’QD—O,

waar we de Einstein-sommatie conventie gebruiken, dat wil zeggen

0 0

o,— =y — +Fog— +ag3—.
‘x Loz, 29, S0,

i

Hieronder is ;; het Kronecker-Delta symbool, dat wil zeggen dat §;; = 1 (geen sommatie)
en 0,; = 0 voor i # j. En verder is Idy, 5 de 2 x 2-eenheidsmatrix.

@N 2016 14



6.f)
(2 pt)

6.g)
(2 pt)

11 maart 2016

Neem aan dat de vergelijking

geldt en vermenigvuldig de Dirac-vergelijking van links met

—i— + iy

o Ti%ig, —Am

en leid uit het resultaat een tweetal voorwaarden (in aanvulling op Vergelijking (6.2)) af,
op «; en 3, zodat het resultaat de Klein-Gordon vergelijking is.

Hint: Gebruik het feit dat partiéle afgeleiden commuteren om de term

0 0

o0 — —
"7 O, O
te herschrijven.

Geef een drietal 2 x 2 matrices «; die aan Vergelijking (6.2) voldoen (met n=2). (Hier zijn
meerdere antwoorden mogelijk, het is dus belangrijk te laten zien dat de matrices die u
opschrijft ook daadwerkelijk aan Vergelijking (6.2) voldoen!)
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7. The Amsterdam problem

V. Gritsev
Universiteit van Amsterdam
8 punten

In former times, traders of Amsterdam used upper floors of their houses to store goods
for the purpose of protecting them against floods. To deliver them upstairs people used
pulleys (which is the case even nowadays, see the picture).

7.a) Suppose a mass M is attached to the bottom part of the rope, as shown in the figure

(8 pt) below. The angle between the rope and the horizontal direction is ¢. Let’s denote by

1 the friction coefficient between the rope and the surface of the pulley’s wheel. Find a
minimal force needed to keep the mass M fixed without movement.
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8. Gravitational effects of sea level change
R.S.W. van de Wal, M.M. Helsen, J. Oerlemans
Universiteit Utrecht (IMAU)
12 punten

The sea level is an equipotential surface determined by gravity, which depends on the
distribution of ice on Earth. If we assume that the Earth is a circular aqua-planet with an
ocean over the entire surface area, the sea level will be everywhere at a distance r from
the center of the Earth.

The gravitational potential is given by:

with G the gravitational constant, and M, the total mass of the Earth.

If we now take a mass of water from the ocean and assume this forms an ice sheet as
sketched below we realize that the gravitational potential at the surface has changed.

Ice free world Ocean, t=1
without

gravitational effect
Ocean, t=0 —

i
AS, Global mean
sea level change

e deviation from
the global mean

8.a) Provide an expression for the new equipotential ¢*(R, ) as a function of M, (the mass
(2 pt) of ice) and @, by considering the ice as a point load.
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8.b)
(2 pt)

8.c)
(2 pt)

8.d)
(2 pt)

8.e)
(2 pt)

8.f)
(2 pt)

11 maart 2016

The sea level r at any place is given by:
r=R+e(f)+AS,

With €(6) being the gravitation effect, which is the difference between r and R depending
on the distance to the ice sheet, and AS, the global mean sea level change caused by the
formation of the sheet.

Use a Taylor expansion to express ¢*(R+ ¢, 0) and neglect second order and higher terms.

The equation for ¢*(R+ ¢, 0) is an equipotential surface and equals the new equipotential
at the surface of the Earth ¢(R,0).

This equation can be used to find an expression for € as a function of ice mass and distance
0 to the ice mass. Derive this equation.

In order to calculate the true sea level change at any position we need to realize that mass
of water is conserved hence:

2w ™

/ / (e + 56)7’2 sin 0d\df = —]/\)L

0 0

with A the azimuthal angle.

Use this concept to find an expression for the true sea level change as a function of the
mass of ice and the distance 6 to the ice sheet. Assume the sea level change caused by
the formation of the ice sheets is homogeneous across the planet.

Explain whether you get wet feet from the change in sea level if you stand at the margin
of this ice sheet as it starts to melt rapidly and the ice margin is at sea level initially.

Calculate the ratio of sea level rise at the Dutch coast for a similar amount of ice melt in
Antarctica and Greenland and discuss the implication.
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Einde van de opgaven.
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